*
A ] a1 10"
8km b, r | | ! 1 >
60m & e Aty
s a
‘:I EE I -
1 |
- ,':I L I [ £ 3
- ‘ .: —.—— —
48 10 94 L0 L
|
A [ r Fi ] L] L] LT}
10km  —————————————————————
8 (10 17 ) I I
a1 17 )
1998
m
300 1999 12 10
200 l
100
0
1999 2000 2001 2002 2003 2004 2005

(1999 12 10 2005 11
1999 12 10




555 N=16999
200 285 383
150
100
50
0
1998 1999 2000 2001 2002 2003 2004 2005
(1998 2005 11
(
10 N=180
5 -
0 B
1998 1999 2000 2001 2002 2003 2004 2005
15 N=584
10 | —_
i | | |
0 1 l"l ||,|| |||I L : LA
1998 1999 2000 2001 2002 2003 2004 2005
(
60 N=2276
T
30
20 |
10 | | I
0
1998 1999 2000 2001 2002 2003 2004 2005
(1998 2005 11
6 N=155
3 |
0 8 N | leJ — 1 N .
1998 1999 2000 2001 2002 2003 2004 2005
(1998 2005 11

20000

15000

10000

5000

200

100

750

500

250

2400
2000
1600
1200
800
400

200

100





